Roll No. i, Total No. of Printed Pages : 32

A-160
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ELEMENTARY COMPUTER APPLICATION

(Compulsory)

Feifa aug - 2 =52 | [ 3tfereRem 7ek - 100
Time Allowed : 2 Hours | [ Maximum Marks : 100

Important Instructions
Tewagut e

Attempt all questions. Each question carries 1 mark. Questions have been set in English. Hindi
translation is being given for the convenience of students. Candidates have to write correct answer
(A) or (B) or (C) or (D) in the space provided against the questions on OMR Answer-Sheet.

Tt go rfar &1 Ueden W 1 3k @ &1 W9 il O ara &1 fremteat i giaem &g gt
f&=st wuT=awor femar T &1 wiiereit @ Wet ST (4) AT (B) 91 (C) AT (D) 97 & WHT OMR X
T A fqd T4 ¥ W foraT g

A-160 (1) BRI-781 P.T.O.




A-160

(2)

BRI-781




1.

What was a feature of the fourth generation
computer ?

(A) Database management system

(B) Human resource management

(C) File management

(D) None of these

What is the era of the third generation
computers ?

(A) 1946-58

(B) 1959-64

(C) 1965-70

(D) 1971-85

To which generation do Notebook, Laptop

and Palmtop belong ?
(A) Second

(B) Third

(C) Fourth

(D) Fifth

A-160

1.

et digt & FHPRR i U forsroa e off ?

(A) TEEY FsH= fawm
(B) WM TETEA Yoo
(C) IS Fae

(D) T ¥ ®E &

TE NG o FEHS T HTA T
(A) 1946-58
(B) 1959-64
(C) 1965-70

(D) 1971-85

reeh, IS SR Il Hrepel e it
HE?

(A) =

(B) dred

(C) =eft

(D) wreet
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4. The brain of the computer is : 4. HTHI FH AT T

(A) ALU (A) TUAT,
(B) Memory (B) FHI
(C) CPU (C) ®tdig,
(D) Control unit (D) =id Ife

5. Two types of main memory are : 5. A0 % S YHR T
(A) Primary and Secondary (A) A T FHved
(B) Random and Sequential (B) vew 9 fasdifimea
(C) ROM and RAM (C) Ima ™
(D) All of these (D) 3 |eft

6. The part of the first generation computer 6. TUH G & HEIL KT G U .o

was : ail
(A) Transistors (A) Tifsred
(B) Vacuum Tube and Valves (B) TRH T I A
(C) Integrated Circuits (C) sf=iifes wfend
(D) None of these (D) T ¥ IS &
7. Transistor is made of : 7. IR fre@ o a g ?
(A) Zinc (A) S
(B) Copper (B) dfam
(C) Gold (C) @
(D) Silicon or Germanium (D) fafasria =1 sHfem
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8. UNIVACis: 8. UNIVAC%:
(A) Universal Automatic Computer (A) Ffeiet samfesh Hreget

(B) Universal Array Computer (B) o @ FFAR
(C) gfTeh sifemfesh el

(D) STETgE femfesd HreRR

(C) Unique Automatic Computer

(D) Unvalued Automatic Computer

9. HLL % Hae& ¢ :

9. HLL means:
(A) High Level Language (A) TTE TA oS
(B) High Lemon Lesson (B) TR WHA A&
(C) High Lemon Language (C) T8 T aivast
(D) High Level Lesson (D) T TaA TEA
10. The eraof the ........... generation computer 10. FETTHT oo e T ST 1952—
was 1952-1964. 1964 ¢t |
(A) First (A) o
(B) Second ®) T
(C) Fourth (@ E@sj
(D) Third (D) T

11. The main component of the second 11. I 9E & HFe &1 &4 IS &= o1 ?

generation computers was : (A) S 1.
(&) 1€ (B) Zifm
(B) Transistor

(C) Processor (©) M
(D) Valve (D) =res
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12. The main function of computer is : 12. 7R N Hfed 989w T
(A) Logical operation (A) TSRl SITRIH
(B) Arithmetic operation (B) ateiufeeh SAraem
(C) Storage and relative (C) VRS toe fifea
(D) All of these (D) 39|t
13. Which is the biggest, fastest, most expensive 13. T | HHAE T TSI, GG I9 T O
computer out of these ? e HEI T2
(A) Laptop (A) o9erg
(B) Supercomputer (B) guHFIX
(C) Personal Computer (C) J97a1 TP
(D) Notebook (D) eI
14. CRAY is : 14. CRAY®:
(A) Micro-Computer (A) HTEshI-HFX
(B) Mini-Computer (B) fHet-shrgex
(C) Mainframe Computer (C) ATHA FFIX
(D) Supercomputer (D) gRHFIX
15. The First Computer made in India is : 15, 9rRa # FfHa vod e &
(A) Arya Bhatt (A) g
(B) Siddharth (B) fasrd
(C) Ashok (C) 31l
(D) Buddh D) g5
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16. 1KkB is equal to : 16. 1 ferciismee fhaa o152 & SRR a1 @ -
(A) 1024 MB (A) 1024 FTeTEeS
(B) 1024 Byte (B) 1024 @Tge
(C) 1024 GB (C) 1024 @S
(D) None of these (D) 79 9 FIE &
17. Optical Memory is : 17. =1 9 9 siifesa 5011 © :
(A) CD ROM (A) = I\
(B) Bubble Memories (B) 9&1d HHARS
(C) Floppy Disk (C) wardt few=n
(D) Core Memory (D) R HERY
18. In CPU, ALU contains : 18. CPUR ALUHZN T :
(A) RAM Space (A) T o
(B) Register (B) e
(C) Bite Space (C) a3 =9
(D) All of these (D) & |t
19. Main memory works in coordination with : 19. Y@ HAN foras THod @ w1 wt ¥ ?
(A) RAM (A) ¥
(B) Intel (B) Ted
(C) Special Function Card (C) foxme = =t
(D) CPU (D) @93
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20.

21.

22,

23.

Ctrl, Shift and Alt key are :
(A) Modifier

(B) Function

(C) Alfa Numeric

(D) None of these

Full form of OCR is :

(A) Optical CPU Recognition

(B) Optical Character Recognition
(C) Optical Character Rendering

(D) None of these

Which is not an output device ?
(A) Printer

(B) Plotter

(C) Touch Screen

(D) Monitor

The easiest storage for PC is :
(A) Pen Drive

(B) Floppy Disk Drive

(C) Hard Disk Drive

(D) All of these

A-160
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20.

21.

22,

23.

Ctrl, Shift 3R Alt Hf T T :
(A) HfeHRR

(B) R

(C) ST <Al

(D) =78 ¥ ®E &

OCR I i &7 ¢ :
(A) sAffcsha Hdyg Rermrea

(B) sffeehcl TiaeX ReRTiem

(C) siffieshal i T

(D) 374 9 FIE &

= # 9 FFE T oseye fearw @
T2

(a) fr=

(B) =i

(C) FI&hIA

(D) HIfAR

I HTT 7Y T TRV TR §
(A) T grEd

(B) Wil feww g

(C) = fewh grd

(D) & 9t
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24.

25.

26.

27.

Main memory of the computer is :
(A) External

(B) Internal

(C) Assistant

(D) All of these

Which one is not RAM in the following ?
(A) PRAM

(B) DRAM

(C) FLASH

(D) SRAM

The data kept in which memory gets

destroyed as soon as power goes off ?
(A) RAM

(B) Floppy
(C) CD
(D) Disk

DVD is an example of :

(A) Output Device
(B) Hard Disk
(C) Optical Disk

(D) Object Disk

A-160

24.

25.

26.

27.

FT i &I HAR 1 Bl © 2
(A) =1

(B) eT=ii{eh

(C) Heras

(D) = g+t

= 3 @ S W (RAM) & & 2
(A) PRAM

(B) DRAM

(C) FLASH

(D) SRAM

Torg AR H e STe fostedt s &t v o
ST ?

(A) ™

(B) wArdt

(C) Hret

D) fe=h

DVD (StEtel) foheent et § ?
(A) eSeqe fearw

(B) = few=n

(C) sffewar fewr

(D) sifssiae fe=h
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28. The process of dividing disk into tracks and 28. fe=h I 359 9 Tl # fawtsd & &

sectors is : yEm T ?

(A) Tracking (A) e

(B) Crashing (B) wf¥m

(C) Formatting (C)

(D) Dicing (D) ewfEm

29. The main board of computer is called : 29. FHTHR H A T FN ¥ 7

(A) Fatherboard (A) FRIEE

(B) Keyboard (B) ®i-drE

(C) Motherboard (C) weTEE

(D) All of these (D) A |t

30. File system is permanently stored in the 30. T faed ToE ®9 9 9UE0 | AT

storage : (A) fearza
(A) Device
(B) d&ved
(B) Secondary
() Primary (©) =
(D) Direct Memory (D) STEER AERY
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31. Common Mathematical function for CPU is 31. CPU & fotu 9= 7ford =7 ohdal ©

done by :

(A) DIMM
(A) DIMM

(B) BUS
(B) BUS

(C) Register (C) Register

(D) ALU (D) ALU

32. The point where accessories are connected 32. TS 5 wF W faed gfie 9 g

to the system unit is : SR FE ?
(A) Ring A) far
(B) Port (B) W
(C) Bus (C) ==
(D) All of these (D) 3 =t
33. What i a group of cight bits called ? 33. o7e fore o |YE =l #41 e € ?
(A) Nibble (A) Fremre
(B) Byte (B) amse
(C) Word ©) T=
(D) Kilobyte (D) FreiEe
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34. Numeric system used in computer in the 34, 191 8§ § FrR § TR o7 IS ¥

following is : (A) fo-smemd
(A) Binary 5
(B) 3T
(B) Octal
, (C) TRTSHmA
(C) Hexadecimal
(D) All of these (D) A=t
35. Bitmeans: 35, foe #1 Taee § ¢
(A) Binary Number (A) BT =R
(B) A part of computer (B) P 1 Tk 4N
(C) Binary Digit (C) = fefse
(D) None of these (D) S8 | IS Tl

36. Number system used in storing data and 36. HTR TR TR TF TUFTE H3A & foe TR

calculating by computer s : S S T
(A) Hexadecimal (A) TR

(B) Octal B) st

(€) Binary (C) =

(D) Decimal (D) <eT
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37. How many digits are there in Binary

Number ?
A) 1
B) 4
© 2

D) 8

38. The system of saving (storing) letters and

symbols in bytes is called :
(A) Alfa System

(B) Number System

(C) Byte System

(D) Coding System

39. Which is not a Binary Number ?
(A) 101
(B) 1001
(©) 1111

(D) 1002

A-160
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37. ST TR Yurelt § fohan 37k B © ?

38.

39.

A) 1
(B) 4
© 2

D) 8

S1erdl e @l 1 =5 § WR & w1 fafy
%1 I HEA § 2
(A) 3w Taen
(B) TR fawm
(C) =z fawm

(D) =ifeT fawn

=1 § 9 i g TR e © 2
(A) 101
(B) 1001
(©) 1111

(D) 1002
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40. The value of 18 in binary is :

41.

42.

43.

(A) 10010
(B) 10101
(C) 10100
(D) 11010

(1111), binary is equal to decimal number :
A) 11
(B) 10
(C) 15
(D) 13

The basis of octal number system is :
(A) 6

B) 2

(©) 12

(D) 8

The most widely used code that represents

each character as a unique 8 bit code is :
(A) ASCII

(B) UNICODE

(C) BCD

(D) EBCDIC

A-160
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40.

41.

42.

43.

AT H (S FT AT FAE ?
(A) 10010
(B) 10101
(C) 10100
(D) 11010

(1111), TR fFres SIHaa T9qed § ?
A) 11
B) 10
©) 15
D) 13

e TR faen &1 TR ¥
(A) 6
B) 2
(©) 12
D) 8

ol 9% €9 § TN fohd ST a1et wie
S 9® 9 & U Al § foe wie &
w9 H TN &

(A) ASCII

(B) UNICODE

(C) BCD

(D) EBCDIC
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44.

45.

46.

47.

Binary numbers 0 and 1 are also called :
(A) Bytes

(B) Kilobytes

(C) Bits

(D) Decimal

The device that changes decimal into binary
is:

(A) Instructor

(B) Decoder

(C) Converter

(D) Encoder

Logic gate is :

(A) A special CD
(B) A software

(C) A type of circuit

(D) A computer game

Machine language uses :

(A) English Language Code
(B) Numeric Code

(C) Java Language

(D) All of these

A-160
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44.

45.

46.

I =R 0 3R 1 1 I off el e &
(A) =TEeH

(B) fepeirames

(C) forzm

(D) SHHA

T gfer S ST | e e # fafia
T ¥, e ¥ :

(A) TEFX

(B) fewrex

(C) Fa&H

(D) TTHIEX

SISERICE &
(A) T fogre et
(B) TH |
(C) U YR HT Afche
(D) T FHER T

47. W\ ATaSt A Al ©

(A) e oo #is
(B) =i e

(C) STe Trast

(D) & |t
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48. In which operating system the user can

operate multiple computers simultaneously ?
(A) MS DOS

(B) Windows

(C) Time Sharing

(D) None of these

49. Oracleis:
(A) Operating System
(B) Database Software
(C) Word Processing Software

(D) None of these

50. The full form of DOS is :
(A) Disk Operating System
(B) Disk of System
(C) Device Operating System

(D) Door Operating System

A-160
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48.

49.

50.

fora Rfe few & STArTRal T 91y

FE FIHR AR F TR © ?
(A) THTE. TE

(B) foE=

(C) 2| TR

(D) T & ®FE T&

FRFA T

(A) siqRfen faen

(B) SRHH WA
(C) =€ WafaT Fiweaay

(D) 374 9 HIE &

DOS I qU A ¥ :

(A) femr sttRfen fawm
(B) fewr &1rF fan

(C) feamsm sitmfen fawen

(D) R sArwRfen fawy

BRI-781




S1.

52.

53.

54.

Which is an odd word in the following ?
(A) MS DOS

(B) ACCESS

(C) UNIX

(D) WINDOWS 98

When was UNIX developed ?
(A) 1960
(B) 1965
(C) 1969
(D) 1975

Which software does control computer

hardware ?

(A) System
(B) Application
(C) Program

(D) Memory

BIOS is used by :

(A) Operating System
(B) Compiler

(C) Interpreter

(D) Application Software

A-160
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S1.

52.

53.

54.

frefafed & foom v & :
(A) MS DOS

(B) ACCESS

(C) UNIX

(D) WINDOWS 98

TR T TolehTd el g3 2
(A) 1960 |
(B) 1965 |
(C) 1969 #
(D) 1975 ¥

FHITHT HIFAR FFRE & FETR h a0
FAE ?

(A) e

(B) UftcThm

(C) R

(D) R

BIOS =1 9T fehart <ran © :
(A) e fawen g
(B) hHAIEER 50

(C) 3=UR g

(D) UfecTehe™ HiFeaR 5/

BRI-781
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55. Which operating system does not support

more than one program at a time ?
(A) Linex

(B) Windows

(C) Unix

(D) DOS

56. Which of the following Windows does not
have a start button ?
(A) Windows 7
(B) Windows 8
(C) Windows XP

(D) None of these

57. GUI is used to interface between :

(A) Hardware and Software

(B) User and Computer

(C) Software and User

(D) None of these

A-160
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SS.

56.

57.

HrE sttfen fowen & v § ™ ¥
TG JIITH R HUIE & el § 2

(A) TR

(B) faE=

(C) I

D) =

1 & 9 forg ol & W oo =7t aan 2
INREEE N

(B) foe= 8

(C) fas= XP

(D) T ¥ &iE &

GUI fa &1 & wea sy & fau wam
T s g 2

(A) TEIR IR HFRAR

(B) TSR SR FH

(C) |Feaa iR TR

(D) T ¥ ®iE &

BRI-781




58.

59.

60.

Which operating system does not really
apply multitasking ?

(A) Windows 98

(B) MS DOS

(C) Windows XP

(D) Windows NT

Which of the following is a system
software ?

(A) Operating System

(B) Loader

(C) Linker

(D) All of these

When the computer starts up, the screen

showing all the icons is called the ............ .
(A) Carl

(B) Smarfas

(C) Spread Sheet

(D) Desktop

A-160
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58. HITHl AT faeen arqa § Hedlerman

59.

60.

] el T ?
(A) e 98
(B) TA.TE. =
(C) fas= XP

(D) fae=I NT

e e SiTeaT 1SSl ¥
(A) sirqRfen faen

(B) @reX

(C) faa=

(D) = 9t

FTH T AR BH TR A4 3Tgeh ol fe@m

STCT Thiv %l HEd © ¢
(A) wrEd

(B) ¥®H

(C) e 3fe

(D) %Rl
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61. When was Internet Service started in India ? 61. YRT H S Yiaen &a § URFI g8 7

(A) 1992 (A) 1992
(B) 1993 (B) 1993
(C) 199%4 (C) 1994
(D) 1995 (D) 1995
62, ............ helps in connecting computer to 62. HEII Fl e 9 WigH § HEE T | ¢
internet. (A) = fre
(A) Netfit (B) W
(B) Browser
(C) H
(C) Cable
(D) All of these (D) A=
63. Website address is called : 63. FSTHIEE il TS HEeAI ¢ :
(A) UserID (A) TR 3 <&
(B) User Address (B) TR TSH
(C) URL (C) AT
(D) All of these (D) & =t
64. What is the full name of Modem ? 64. HISH &1 YU TH T ?
(A) Modulator Demodulation (A) HArga fedrgamw™
(B) Modulator Demodulator (B) HigaiX ferrgeex
(C) Modulator Discussion (C) #rgaX fewnem
(D) None of these (D) 79 ¥ g &l

A-160 (20) BRI-781




6S.

66.

67.

68.

The full name of Internet is :
(A) International Network
(B) Intercom Network

(C) Intercontinental Network

(D) Internal Network

The Standard Protocol of Internet is :
(A) HTML

(B) JAVA

(C) TCP/IP

(D) All of these

What is the full name of HTML ?
(A) Hyper Text Multiple Language
(B) Hyper Text Mark up Language
(C) Hyper Team Mark up Language
(D) Hyper Team Multiple Language

What is the largest heading for an HTML

Element ?

(A) <h6>

(B) <hl>
(C) <head>
(D) <heading>

A-160
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6S.

66.

67.

68.

TR H W AA T :

(A) T=INEA T

(B) 3=IhIT Aea®

(C) STwifeea Aeas

(D) T=EA AT

S2LE h WUSE WA © :
(A) HTML

(B) JAVA

(C) TCP/IP

(D) & |t

HTML &1 90 TH F1 T ?

(A) TERIFL HETA oSl

(B) TEWRIFZ T 319 ot
(C) TER 3T T 319 oSl
(D) TEW I FeETS e

HTML Element & o gs ot @fem s
AT ?

(A)
(B)
(©)
D)

<h6>
<hl>
<head>

<heading>
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69. Which tag is used to bold the text in
HTML ?
(A) <bold>
(B) <b>
(C) <bld>

(D) None of these

70. What is used to resize image in HTML
Page ?
(A) Height and Width
(B) Top and Bottom
(C) Margin

(D) Padding

71. Which one is a Container ?
(A) <select>
(B) <body>
(C) <input>

(D) Both (A) and (B)

A-160
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69.

70.

71.

HTML # 3= &1 dice %A & fag o
AN R ST R

(A) <bold>

(B) <b>

(C) <bld>

(D) T ¥ ®E &

HTML S # 38 &1 915 5o &g T4
o ST %

(A) T3 3R fagy

(B) 29 IR afeq

(C) wfsH

(D) Hfen

71 % ¥ Container ¥ :
(A) <select>

(B) <body>

(C) <input>

(D) (A)Td (B) 3

BRI-781




72.

73.

74.

The main container of the tages <tr>, <td>
and <th>is :

(A) <table>

(B) <select>

(C) <data>

(D) None of these

Which is a small-single site network in the
following ?
(A) WAN
(B) LAN
(C) MAN

(D) RAM

Local Area Network is useful for :

(A) Railway

(B) Bank

(C) Businessman

(D) Motor-vechicle Office

A-160
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72.

73.

74.

<tr>, <td> qd1 <th> 37 FH TIE H2R
T

(A) <table>

(B) <select>

(C) <data>

(D) 379 9 FIE &

fr= & | SFE T Sie-fa 95 Seas
g2

(A) WAN

(B) LAN

(C) MAN

(D) RAM

e # 9§ da o ead fres o
ST ¥ 2

(A) Tor

(B) &

(C) =M

(D) HIET-9rEd THKR

BRI-781 P.T.O.




75. Which device is generally shared in 75. FHTIR AT H Y THR HT GEEE
computer network ? I : SRR R s 2
(A) Printers A) fued
(B) Speakers (B) Ty
(C) Floppy Disk Drive (C) wardt feen grea
(D) Keyboard (D) HsH-Ted
76. A device, connecting without cable to 76. < feamsy fo1 Heet A2des 9 Hae 8 Sl
internet, is called : T, W FMFEAE ?
(A) Distributed (A) fe=i=gds
(B) Wireless (B) ™
(C) Centralised (C) HTESE
(D) Open Source (D) 3T 9
77. An another name for fully interconnected 77. : STR-GAIfea "Heas wftafq & fou
network is : Teh 39 T
(A) Mesh Network (A) BT Seah
(B) Star Network (B) ®WR &
(C) Tree Network (C) 2t Fea=
(D) Ring Network (D) &1 e

A-160 (24) BRI-781




78.

79.

80.

In which network topology only one cable
of the component is connected ?

(A) Bus Topology

(B) Ring Topology

(C) Star Topology

(D) Mesh Topology

What are created to share information

between two or more computers ?
(A) Router

(B) Server

(C) Network

(D) Software

Which telephonic conference with a radio
link 1s popular all over the world ?

(A) TPS

(B) Telepresence

(C) Video Conference

(D) Video Teletext

A-160
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78.

79.

80.

ferd Seae Sdiarsl d e @ Th o

S HAFE ToHar S & ?

(A) o9 rararst
(B) T Srdrersi
(C) w=R rdrarsit
(D) =¥ 2draArsit

T AT W AF FEES H I TR A
TG S ST E

(A) TR

(B) &R

(C) <&

(D) WiFaR

FHE T e faw & @ efwias
FHihy R fava § Awfa ® ?

(A) Jrirew

(B) s

(C) =fea wihd

(D) difear Tefteare

BRI-781 P.T.O.




81. Name the device that connects computer to 81. 39 I 1 A FARY S HF h! AR

telephone line : A 9 SISl § ¢
(A) CD ROM (A) Tt iIm
(B) Scanner (B) TR
(C) Modem (C) #reH
(D) Printer (D) fa=x
82. Topology is known as an another name : 82. Jdrrstt sl o fhe M | ot ST ST
(A) Network 772
(B) Bus (A) T
(B) &9

(C) Network Architecture

(C) - SfheeFer
(D) Wire setting

(D) amR §fen
83. The types of LAN Topology are : 83. T Sdreitst feheH YR T Bl § 2
A) 1 A) 1
B) 2 B) 2
(C) 3 (C) 3
(D) 4 (D) 4
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84. What is installed as Add-on-card in Micro

8S.

86.

Computer ?

(A) Transmission Layer

(B) Network Interface Unit
(C) Data Link Layer

(D) Protocol Unit

Nicnet is :

(A) An international network
(B) A web of special wire
(C) Another name of internet

(D) An Indian district connecting network

Arpanet is :

(A) Ist WAN of the World
(B) Ist WAN of Asia
(C) Ist WAN of India

(D) Ist LAN of the World
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84, T A Eas CAY T Add-on-card & ®9 H

8S.

86.

9 install (3==7a7) fRarsmar e ?

(A) TEHYH TR

(B) Weosh $={hd gfe
(C) =T foish TR

(D) Hierehia gfTe

e ®1 § ?

(A) TH SR edeh
(B) fasie ar w1 I ST

(C) =TI &1 g0 I

(D) YR & s TSTeti ohl SirgH aret Heash

Arpanct ¥ ?

(A) foed =1 98l WAN
(B) TN 1 g8l WAN
(C) ¥R =1 9gal WAN

(D) fowa =1 9gen LAN
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87. Which is known as Long Haul Network ? 87. Long Haul Netwrok fo8 #gd § ?

(A) LAN (A) LAN
(B) MAN (B) MAN
(C) WAN (C) WAN
(D) ZAN (D) ZAN

88. Using which of the following E-commerce 88. T-HIAH J HATNTH TH-<A 1 Th 41

has created a new environment for business FTATET fohgehT T9FT & a1 [ ® 2
transactions ?
(A) fefsea e
(A) Digital Data
(B) T2
(B) Internet
. . (C) SRRl Tl
(C) Electronic Techniques
(D) Communication Services (D) Sl
89. E-commerce sold online for the first time in : 89. I-HITH 7 YUH IR SATAET A Hl
(A) 1938 (A) 1938 #
(B) 1942 (B) 1942 #
(C) 1994 (C) 1994 #
(D) 2004 (D) 2004 &
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90. Presently come under E-commerce : 90. IAHM H $-HITH P ST A © ¢
(A) Internet Banking (A) T2 SfwT
(B) Travel Booking (B) A Ffep
(C) Online Falcate (C) AT HicThe
(D) All of these (D) 3 |eft
91. Advantage of E-commerce is : 9]. I-HIFH HT AT :
(A) Productivity Increasement (A) IAREH H gfs
(B) Savings in Cost (B) @ H S
(C) Good Consumer Services (C) 3T=t IqrT Famd
(D) All of these (D) & |t
92. Important feature of E-commerce is : 92. T-HMY HTHT Hi u%@{ﬂf forgroran & :
(A) Automated Process (A) Tg=Terd gfsha
(B) No storage of goods is required (B) aXg3T & HUSRU T STETAHAT Tl
(C) Online sale and sale increase (C) eiasa faswa a faswa FagA
(D) All of these (D) & |t
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93. The most popular means of network

94.

9s.

96.

publishing is :
(A) Internet
(B) WWW
(C) E-commerce

(D) Multimedia

Online presence of business is called :

(A) Btailing
(B) B-business
(C) ERP

(D) CRM

EDI means :

(A) Electronic Data Interface
(B) Electronic Digital Interface
(C) Electronic Data Interchange

(D) None of these

Bank uses on Cheques/Drafts :
(A) Bar Code

(B) MICR

(C) OMR

(D) UPC
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93.

94.

9s.

96.

Heoeh feATYT k1 Hord Y=iford |eM © :

(A) T2
(B) WWW
(C) =g
(D) wAeIHfea

ST i ATTAET U FHedwd ¢ :

(A) E-tailing
(B) E-business
(C) ERP

(D) CRM

EDI ¥ a0 ® :
(A) ORI STl 3UeThd

oo~

(B) soiRite fefSead sexwa

(C) SOERIH ST g2

(D) 374 9 HIE &

S 1/ STRT T FAT HET©
(A) IR TS

(B) MICR

(C) OMR

(D) UPC
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97. Which is post processed in the following ? 97, =1 H ¥ HHE1 U WIS Tar § 2

(A) Debit Card (A) Efoe =
(B) Credit Card (B) Hfee &1
(C) Both (A) and (B) (C) (A) 3R (B) 3
(D) Smart Card (D) T ®1E
98. For micro payment in E-commerce is used : 98. 3-HAH | HEH! A (Micro Payment) &
(A) Electronic Wallet e sager B % -
(B) E-cash (A) SeRRIeh dlele
(B) ¥
(C) Credit Card (©) #fez 7
(D) None of these D) T @ F
99. Full string of EDI message s : 99. 3.21.3TE. Ha¥ I T LT Feermd § ¢
(A) Transaction (A) ZoEH
(B) Data Segment (B) ST ¥
(C) Data Document (C) =1 FpHe
(D) Data Transaction (D) T ISR
100. PCI means : 100, . 9. 37E. 1 AT € ¢
(A) Payment Card Industry (A) e e U
(B) Payment Cash Industry (B) WHE Y TUSE
(C) Payment Card Internet (C) HE *E 30
(D) Payment Cash Internet (D) THe He gt
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